B ST e R i 0K
AR T A% T WA 5 SO 0O Y 2 T s B MR 2 s o U 5 3.4 B e S0 P s i o T A o

A A A R B 2 R R AR = 0 = — H IR 2 S AR B RS R — D L

AL B R E R AR R HAE— A — 0 SR G s M A MR L SR B B s R R E e
B (50 7 1 SV 5 S At Y U0 1) I A s BRSR AR s T3 B 4 - A A R W A I B 2 Bk BOR Bt
AHEEBE - FEHFE A=+ HIEFEZFE B RETRNE 2 -

U S L T AR AR A IR L R AT B A T Y B A YE R B R AR o R R RONAE T
/N 9 2 7 v B T R e PR (B AR Y ) A A SRR A v Y T B R R 1 AN o

PRAHTRT 3L,/ KOG 5T 5 8 B M JU) 2 75 s 5 i o Y6 U3 A S ) 8 ORI 0 28 7 oS ) > M SO GE
LT BRAL -

RO 2 50
90 0 5 s S S 2 T O ) 2 B

R Ak 7 A S A A S B 2 SR B AR S A 2 G AP EOR M BUAE ) - HE FFRE=H =+ —H > FE
BT ] 4R 36 O R B A A A R PP AU B ST o o R R AR — R > A [ S B RE 2 A A W 2
FHIMERT - ME_FFHFNA=ZFHIEAMEA > REFF2F+— A CHRRHERR ZFFHAF
JUA =+ F a8 2 W FBCRE RS AR R S > A A Rl 9 ) 2 i 2 38 99 0 10 B S o R A0k At o S S R B
e HI 57 2 R AR E

RERERHE ROTTHE
rAZ+HH =A=1+—H

BT #oC
Ji 19 fet fhe 385 120,000 676,000
T4 58 s ) ek o 120,000 676,000

ERNA =S A=

G00C F Bk b



ETHEHHAZ P »

S00C F B KM b

R R NRE A

LH=Z1H =Z=H=+—H

EAEA -4

B0 T

i 11 28 1 - 278,000
B T A 120,000 398,000
120,000 676,000
5 IR Ji (0.024l1) (0.0911l1)
i IS 9 2 R i A3 AN

PR 40 T e B e ) S R S B AR H — H W) 2 AR BB A T %k 676,000.008 0T o #E - EE
HEZA=Z+HILFEE > LW TOREARNETUBT -

HR 15 J5 BROME AL V62 1) 5,564,000.0095 70 B £ 384T S AR 2 i 2 9104 8 2 884 7822,370,000/ B 4 48 JI 2 N HE T34
R AEE _FFAF AT —HIEFEE2 G REARZA (W FRHEFERT R CHES
4,887,790.00%5 70 » MRIEAAIRI B H 2 O34T SO 25 7 0 8% 7 38 47 I A0 T RE 7~ 25 BI04 19 IR A 28R T ik
0.09%El > Zo.5oM Ml e BHE “EENAESA =+ H LI > 5740 7 ok B4 TS 345 1 1) 45 2 5 0 SR 8 I ok e
I 5 R 475,492,000.00% 70 [ B 8517 5k B0 B i I 0 288 15965,066, 667 1535 48 Bt 22 fin AT 44 Best 3 2 B 1
IEARZ AT Bo.028 1l = o.57H# Al -

A EE T AAFEZA = B IRE R R E TR U = A k]I e E R T R
A B > T B 48 O g 0 A o

M EER 2 207 A T BT EH 8 -




3. AR

(@)

(b)

e S P )

ES GRS
TS B 7 5

2 b [ 73 H5

B
)

BELA=THIE
AN A
“RENAE “EFFE

T#x T

1,867 -

1,867 —

BRELA=THIL
AN A
“RENAE ZEFTAE

T#x T T

1,867 -

1,867 -

BT HEHETL O

G00C F Bk b



ETHEHHABR S

S00C F B KM b

(c)

W 8

B
AR R P 2 8

IR

SRATALB A
E B

B 300
S5 2 1

PRt i s 5
BLIR

ik 2D BB SRR i s 4R
DB OR e A

JBCROMEAG H % 85 1R

(R BB (R BB (R B % B
LIE 3793 8 U5 B K A% ¥ R Sy
BELA=THIE BELA=ZTHIE BELA=THIE
AHA AW A A
“RRHAE CETNE SRFHE CFENE CRFHE —FENE
T#x TH#T TF# T F# T
- - 1,867 - 1,867 -
(83) (3,801) 453 ) 370 (3,803)
7 —
(5,710) (2,851)
(5,333) (6,654)
(5,333) (6,654)
(5,333) (6,654)
(159) -
(5,492) (6,654)




BEM

BREBUR IR E B LA IR > WA E T B S 2 R REGIOR B BRSO B R AR R L

GRLL CEPAUECE SR L i

& 1) 2E P 15 5A
I 75 ith B 7 S

B SER R B W3 2 O R B T 15 A 2 5% TR o

¥4 7 |

KEBHECIER A
EEME

HoAth B THA (NOfEESR) -
B LTI

B R A B
A T A

A2 IR <5

A B E IS
B E A 2 W

Wt ATHIEA -

FB WA

RENA =
oLy
SERRTE NG
TR T
1,867 -
1,867 —
A=A
A

CRFEE CEENE

TR T

1,893 870
619 888
27 12
2,539 1,770
150 112
158 7
9 3,798

7 —

BETHEHEHTH O

G00C F Bk b



ETHEHHEZ D o

S00C F B KM b

BL

17 S0 408 77 A s e B R A A A R SRR U M) o ST A A o M A B o A

AR 2 BLIE Ty 46 BT A o H B BT ARG A r R AR 2 B U R B R 339w o phy i T P A

R E AT R R ] > O AR O Sl A e I A A e A

DR S ol JE 2 OB K (BRI JUA = H ) - SO AR o AR B 1 A -

B s 41
HAp

B A e 1R T AR PR AS 2 B M A5 5 A IR A s 1R BR LU TR0 3R AT 5 AR 0 2 T S RO

A L HE AR B N AG s 1R G T)
B AT 5 28 B A A 2 Tin e - 24
T R s 1R (B BBEHE L)

g

A=A L
A
CRFEE CEFNE
CREWE)  CREEHR)

(5,492,000) (6,654,000)
965,066,667 800,000,000
(0.57) (0.83)

A B R F AU = H Lk T[] S0 S L S e YR R AT R A B WO R R T R A (2
FEMFELA=Z+H - ] o




o 39 B

FHEANER AR E BB RAEIH =+ H LA Z AR R E (CFEF P - M) -

[l &
GiiNEY
LIES 23
Tt C
A
R EETAENA—H
(K83 H%) 52
A CREEER) -
W TEERAFEILA = +H
(R 88 3%%%) 52
HEMTHE
W EETAENA—H
(K83 H%) 10
WA CREEHAZ) 5
i [ 43 CR 8838 4% -
W TEERAENLA = +H
(R 23 15
W T R
W OEERAEILA = +H
(R 23K 37
NoFEERE=ZA=+—H
(K8 FH%) 42

i
Tt or

980

980

441

B~ KE

Be i Al a5t
Tt Ti#T
77 1,109
(11) (11)

66 1,098

18 322

6 158

(2) (2)

22 478

44 620

59 787

-
o

BT HEHMHE H

G00C F Bk b



-_—
=

B HEHHE P

S00C F B KM b

10.

11.

12.

U Sh HE R

AR 2 5 ME WU ELE B A7 8 R 35 R RRR S R ARG IR 2 263 o 3 BT 5 - A SR AR S50 il
VIR R GBI T B o SREIR R R ARG BN 5 - 5 1% A5 B BERTAG (5 BTl « i =%

FHENMA=ZTHEZZZHE=ZA=1—H > BHBUURKZIRE S HTT -

RE-FFRHE PR TR AE
WH=+H =HA=1+—H
(R BHwA%) (B8 H%)
T Tt C
0290H 1,867 95,000
91%180H 95,000 7,991
181%270H - 26,660
96,867 129,651

EL4IG 0 7K ok 32 9

R4 — it R RV = A - = H 2 AR Wk > A S B OO ST HE M R A 52 954,000,000% T »
Wk B A = HER - RE—D BT AAA—H T H 2T o A BT R R g

FOIF T I > &5 SOH AR B 10 R, o S B AN JORIHA 623,500,000 T B —HFF FUAR-L A HE
o W dpe A ¢ M 2 vl 2 K

A% B KR A S AR T I S R o




13.

JBeA
AR
RERFNLEE R EFT A
ARA=Z+H =HA=+—H

W B -
20,000,000,000 4% i A7 (H0.01 5 70 2 7 #0 JiE 200,000,000 200,000,000

CBAT RS R B A

I (E0.01 /T 2 & K -

N ERAE S REEPEZH =+ —H 9,150,000 8,000,000

ML &R AT IR (B FE) () - 1,150,000
(K1 7E) (b) 140,015 -
(B7E) (c) 1,830,000 -

NoEBERERA=Z+H/ FELRE=H=+—H 11,120,015 9,150,000

Wat -

() MIEERHAE—HH o AL A E {6 B A QK 5 A& /) 7] Climax Park Limited ([ Climax
Park|) ZFT HH A —F X HAE— A L HZBE LR bk ([Z k) - W% W > Climax Park[d]
A T A B O A0 4 T A L R 115,000,000 B A T (EL0.01 5 T 2 4l
e ([FLE e ]) o MREERZ Ik > Climax Park WA R & LAY o 4 e s8I 525 115,000,000 B -
Bl 5 ey T de AR N AR R FE AR A A — H R R & E AN R R AE R 2 kR BT E
H— R B AT -

(b) MR T MR B e B JRE T ) 2 s o ) PO AR R AT (o S8 e T 64T 14,000,000 /845 BB THI {E 0.0 15 7T
I o A% S I P R P I IR R A NS 5. 009 0T

(¢)  ARPEM ST = AR B AR AR A R SRR R AL H b H AT 2 iR R R S Ik 0 RS aKIE
FE 183,000,000/ B3 5B I HERE 0.01 75 JC 2 T 15 AR JEH 4B 4R -

B0y RBIBCRERS i — % TAE A\ A+ IUH PG =AM A > A RESE )8 AT (B A ORI 0. 199 0T
AR AN T — JRHT By o i Ak BR5E A S AT 0 R RO R R B A 2 AT Al RR R o

PR IEHERE 2 Fi A A& R 5 Ty W IR R 5 A T A AL (T HE Ty i AR A Rl AR R G s & B -
FRIBCHE RS 2 FE AN HE S =y AR FAE AT AT 3R B 5 2 AR O W R A R A 2 B

-
N

BT HEHMHE H

G00C F Bk b



-
w

B HEHHE P

S00C F B KM b

14.

15.

16.

BEATURS
ATERFRAENA =+ > AREEARE L ST 2 AT i K8 T B2 B AR SO 2 IR B A kA8
LUNNE

R_BEHAE R _FEHF

WA=+ =H=+—H

(REEE) (883 H#%)

TF#IC Tt oC

— 4N - 218
5 AR RS HAE (WS R W AR - 40
- 258

BUEAL:Z 5
R T RERAEIA = B R EFRPAEIU =4 H RS AR ATRFR] > A< 5 B S S A7 A ] 8K 2
BN LS -

HLIE 45 K9 7R s
WEEZHENA =T HIEMM EEE -FZRFE A =T —HIEE  AMEERBHESOAGR
FUT

RERRRAE R LR
WH=1TH =ZA=Z+—H

T T
— 4N 137 226
—HEP FHERT 801 828
Pl AR 2 AR R A K T A AR 938 1,054
il T 2 oA AR il A (162) (185)
o I A LB B JH 2 B HE R 776 869
ARSI A 2 BUE
——FN 113 186
— 4P FRFEDTF 663 683
776 869




